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Part of
the Question | Grade
ques.
1 P(+/3) =9 .The answeris(a) 0.5
2 The price will be 5 200 x 0.85=4420. So the answeris (c) 0.5
3 cos’x =1— 2i5 = 5—; .So the answeris(c) 05
4 If2x —3>5,then x > 4s0-3x +12 < 0 .So the answeris(b) 0.5
Question |1
! A-8i5.3-8.5_1 0.5
3 5 3 3
_ 1
, B:\/4_§:\/1oo 36 _8
25 25 5
_ 1
3 = 103443 = 63 :gthus B+C =2
5x2x33-15\3 153 5
Question 111
1 x=21andy=14 1
. X+y=35
2 x and y are two natural numbers, so the system is: =3 hence x=21andy = 14 1
X =3y
Question 1V
1a E(X) = 6x° —26x +24 05
1.b E(x) = 24 then x=0 or xz? 0.5
5 E(x) = (3x-4) (3x-4-x-2) = 2(3x-4)(x-3). 05
3.a S=(3x-4)’and S'=(3x—4)>—(3x—4)(x+2) 1
3.b S=4S' then x= %rejected or x =4 acceptable . 1
1
0.5
Figure: A, B andC ..
2 Equationof (AB) is y =2x-3 0.5
3 Aac) = ;then (AB) and (BC) are perpendicular (product of theirslopes = -1) 0.75




4. (AB) perpendicularto (BC) ,AB = 3J5 ; BC =35 then ABC is right isosceles . 0.5
S.a AD = BC then D(-3;6) 0.5
5.b AD =BC thenABCD is a parm 0.5

(BC) perpendicular to (AB)andAB = BC thenitis a square.
6.a E(9, 0). 0.5
3 0.5
_ 4 _3 : .
a(ID)= _ESO' the slope of the tangent 3 and the equation of the tangent is 0.75
6.c = 3 - 33
4 4
Question VI
—
L
D
J
F
B 0.5

1 A 0 "

2 ABD is right at D sinceitisinscribed in a (C) of diameter [AB] AD? =36-12.96 = 23.04 0.75

hence AD =4.8cm.

3 UsingThales', Al_AM M 1

AD AB BD
then AJ=3.6cm and JM=2.7cm
4.2 F midpoint of [AD] and O midpoint of [AB] then OF:% BD consequently OF=1.8 05
or....
4. O commonangle , OAL = OFA = 90° OF _AF _ thenAL=4 1.25
OA LA
5.a 1

tan OLA = % then BLA = 37° so ALD = 74°
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Partie de i
la Q. Question | Note
1 P(/3) =9 ,alors la réponse () 0.5
2 le prix sera 5 200 x 0.85=4420,alors la réponse (c) 0.5
3 ) 4 21 . 0.5
cos* x =1——=— alors la réponse (c)
25 25
4 Si2x —3>5,alorsx >4 donc —3x +12 <0, alors la réponse (b) 0.5
Question |l
1 15 ) _ § é 11 0.5
3 3
, B \/4_§:\/100 36 _8 .
25 25 5
3 C= 10V3-4/3 63 _2 donc B+C =2 1
5x2x3J3-15{3 153
Question 111
1 x=2lety=14 1
. i o . X+y=35
2 Soit x et y cesdeuxentiersd'ou le systéme est: oy -3 alorsx=2lety=14 1
X =3y
Question 1V
1a E(X) = 6x° —26Xx +24 05
1.b E(x) = 24donc x=0 ou x:% 0.5
5 E(X) = (3x-4) (3x-4-X-2) = 2(3x-4)(x-3). 05
3a S=(3x—4)* et S'=(3x—4)* - (3x—4)(x+2) 1
3.b S=4S'alors x= %érejeter ou X =4 acceptable . 1
Questlon V
0.5
1.
Figure: A, B et C i RNl R RS I
2 Equationde (AB) est y 2x 3 0.5
3 Qac) = ?1 alors (AB) et (BC) sont perpendiculaires (produit de leurs pentes égales - 1 0.75
4. (AB) perpendiculaire a (BC) ,AB = 35 ; BC=35 alors ABC est un triangle 0.5
rectangle isocéle




S.a AD = BC alorsD(-3;6) 0.5
5.b AD =BC donc ABCD est un parallélogramme 0.5
(BC) perpendiculaire a (AB) et AB = BC donc il est un carre.
6.a E(9, 0). 0.5
6. b 3 0.5
I(=,0
( 5 )
4 3 e
6.c a(ID)= —gdonc la pente de la tangente :Z et par suite I'equation de la 0.75
3..33
tangenteesty = —x +—.
g y 2 4
Question VI
—
L
D
J
1 F
5 0.5
A 0 i,
2 ABD est rectangle en D car il est inscrit dans un demi-cercle de diamétre [AB] 0.75
AD? =36-12,96=23,04 d'o AD = 4,8cm.
3 D'aprés le th. De Thales A _AM M 1
AD AB BD
alors AJ=3,6cm et IM=2,7cm
4.2 F milieu de [AD] et O milieu de [AB] donc OF:%BD et par suite OF= 1,8 ou.... 05
4. O angle commun , BAL = OFA = 90° E=£=... donc AL = 4 1.25
5.a 1

tan OLA :% donc OLA =37° alors ALD = 74°
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